TO MAINTAIN EFFICIENCY OF UNIT LUBRICATE
CABLE OCCASIONALLY WITH WHITMORE'S
WIRE ROPE SPRAY—LPS-3, OR
SIMILAR PRODUCT.

Lo

N 4 .r??' 54
KD ’
i - o Blnck /
Nagalve

THIS IS A PERMANENT MAGNETIC MOTOR
AND IS POLARIZED FOR ROTATION.

Make sure your wiring cannections conform to instructions.
Reversing may cause moter gear to back off the threaded shaft,
and/or possible damage to motor or wiring.

VR-192

B

_:Bﬁ |

t“‘“‘ :T{.;_J é;.--.\ 3

L OE FING TERMINAL




MODEL VR-192

KEY #

—_
QRN N WM —

P — — 4w
COD~NTON W

CORMNTMBWLRNSDO@~AdN, W -oOCO~NGMONRLORN IS COGHOROMN .S

NN ORI OD
DEaEWN—OODJOM AL

D #
79720
79402
71902
71612
79800
71613
71609
71755
73602
71716
79715
71605
71101
70132
71820
71953
79087
71858
71402
71951
71821
71608
71751
79716
78712
71703
71822
71818
71607
78851
71608
79713
72111
71301
71704
71708
70205
71772
72003
72203
71819
71201
71817
71816
79703
78161
79544
78108
78118
78003
78016
78018
78017
78103
79701
795367
78105
78113
74100
78553
78160
79719
74160
75603
79584
78601
75085
77041
71888
79043
78105
78510
78511
78322
78603

DESCRIPTION
Acorn Nut

Krob

Backlash spring
Thrust race .030
Spring washer
Thrust race .060
Bearing

Pinion Gear
Clutch lining
Powdered metal gear
%-18 hex nut
Bearing

Clutch assy stud
Frame

Spacing Washer
Drum shafi flange
Drum collar

7:32 cable fastener
Drum shaft

drum shaft flange
Spacing washer
Bearing

Gear

3/4-16 hex nut
1/2-20 hex nut
Drive gear
Spacing washer
Shaft spacer
Bearing

Snap ring

Bearing

1:/2-20 shaft nut
Motor spacer
Intermediate shaft
Pinion gear

Idler gear
Levelwind plate
18T motor gear
Motor

Motor straps

Rear shaft spacer
Rear shait

Shaft spacer "B”
Shaft spacer “A"
5-40 nut

Socket

5-40 x 1/2 screw
Buss bar

Solenoid

Wire assy 5" red
Wire assy 6" brown
Wire assy 11" red
Wire assy 6" black
Socket

10-32 hex nut
10-32 x 1,2 screw
Plug

Switch

Remoate switch housing
Remote wire 96" black
Plug

6-32 acorn nut
Case grey

Cover rod

10-32 x 3/8 screw
3/16 ring terminal
Adapter plate
Crark handte
7/327 % A(Y easel
Pulley block and hook
Plug

15 ft. 8 ga. red wire
5 fi. 8 ga. black wire
Circuit breaker

5/16 ring terminal

_ KN

QTY USED
1

4
1
2
2
3
2
1
1
1
1
1
1
1
"
1
1
"
1
1
3
2
1
4
4
1
5
1
1
1
2
1
2
1
2
4
1
1
1
2
1
1
1
1
2
1
2
1
1
1
1
"
1
1
3
3
1
1
1
1
1
4
1
2
4
1
1
1
1
1
1
1
1
1
"




	VR192 1
	VR192  2 Manual

